At Q30, Q31

In t.clone( ) for t2 = (T1) tl.clone( );

4>

0

1

Siv

T1t=new T1(0);

1 ——P» v —p 10 11
t2 —» g, P 100 | 101
Vi | 1| 2

At Q32, Q33

t1 v — 90 | 11
t2 iy % 100 | 101
Siv 1 1 2

In t.clone()

4>

0

1

Siv

Siv = new int[2];



In t.clone()

t >ivf—FO 0

Siv 0 0

t.iv = new int[2];

In t.clone()

t >iV*4>O 1

Siv 0 2

for (inti=0;i < siv.length; i++) {
siv[i] = ;
t.iv[i] = 2*;

}

t2

Siv

return t




1 v —» 9 1
Siv 0 2

1 v —» 20 1

2 >y > g 1
Siv 20 2

after System.out.printin(t2); // Q33
t2 = (T1) tl.clone();

After
t1.siv[0] = 20;
t1.iv[0] = 20;
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